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Simulation result

Open Ended Circular Cavity
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eX. ObservationPoint=[sin(pi/180*inc)*10710; 0; cos(pi/180*inc)*10™N10];
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Simulation result

& — pol., ¢ =0° plane.

—h— Mo

Open Ended Circular Cavity at ® Feko (ref)
with hub Al

b E . ﬂ_f:_: |
I — A\ - e,
E »L uf‘—/ \ . 5 - i
¥ e T b " ,{‘_‘_'
I I f i

i . \/

_____ L) 0= -
ZR1 2R o R S S T

Z Cg /_g\ 0 10 m \ an a0 &0

AN AR ¢ — pol., ¢ =0° plane.

—a— Mot

40 - *  Feko (ref)
KL =3.54,R=24,L1=0.54, Rlzlﬂ/

LLL 7
[ \kﬁﬁ'ﬁfn¢+rrﬂr‘f"‘“ﬂ

R=10" approximation
(@ObservationPoint in efield1.m)

ex. ObservationPoint=[sin(pi/180*inc)*10°10; 0; cos(pi/180*inc)*10™N10]; °
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